[image: ]
[image: ]
No Data for Friday December 1st to Monday December 4th. Power outage occurred. Controller to ion gauge was replaced. 
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ][image: ]

[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]

[image: ]
[image: ]
[image: ]
[image: ]
[image: ]

[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[bookmark: _GoBack][image: ]
image6.png
‘ ISAC TEST STAND SURFACE SOURCE (TSG)

gm0
o s e S |
[ — Y B0V

[ ov

Set Limt Volts 10000 V.

(oo |
o Set Limit Amps 500.0 A

1204V setmitvots 10.000 Y
1503 A Set Linit Amps 600.0 A

B oo~ R TV oA
0018 T

o
1.58e-06 T
[T eis o “PIS off" “TPSITSG Anti-spartc] IEETRN

e

Sources Save/Restore





image7.png
I rgaApp - [TS-2017-12-05-08-10 (connected to:COM4)]
_Je]x

U5 Fle £t View Mode Scan Guph Heod Utitis Window Help

DS QohbhEhcBE oBlBlue B «@M-»[2<6:malakirw

Time:00:00:00
5.62e-008 Nitrogen
3.37¢-006 Water
2.67e-008 Oxygen
3.52¢-008 mass44
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 3.60e-008 mass55
1.73e-008 Helium
2.89¢-008 mass71
2.68e-008 Neon

3.91e-008 mass57

00:40:00 01:20:00 02:00:00 02:40:00 03:20:00 04:00:00

Time (hh:mm:ss)

For Help, press F1




image8.png
FEBIAD Target Heat Sequence Setup

B00
1.000

200000
1.000

75.000
30006

6.0005-06

- the time interval between increments. (in seconds)

- the amount to be added to the target heater
after each fime inferval

- the value that the target heater is required to reach.

- the amount to be added to the tube heater
after each fime inferval

- the value that the tube heater is required to reach.

- the target and tube heaters are only incremented ifthe
vacuum is akay, i2, less than this value

- ifthe vacuum exceeds this value, the last increment
of the target and tube heaters s backed off.





image9.png
[~

2 rsccora

0018 T

[rscic |

1.58e-06 T
[ o

‘ ISAC TEST STAND SURFACE SOURCE (TSG)

[Crsnee |

e — 1
843V 1250V e
936V [E == m—— o0

0uA

oV

ST

Set Limt Volts 10000 V.
Set Limit Amps 5000 A

(o

Set Limt Volts 10000 V.
Set Limit Amps 600.0 A

*PIS on’

"PIS off"

“TPsITSG Ante-spark] ISR

Sources Save/Restore





image10.png
vacuum_current.stp

-a0

(Minutes)

U A PRI A ABABITO AL LA A,

Dec 05, 2017

x

TSGIGIRDVAC

T
log10 (1e-07, 16-05) VAL=1.56044e-06
subroutine record
v
(0, 60000) VAL=0
analog input record

TSGBIAS:RDCUR

uA

(0, 1000) VAL=0

analog input record
TSH:TBHT:RDCUR

A

(0, 300) VAL=78.1441

analog input record
TSH:TBHT:RDVOL

v

(0, 4) VAL=0.537241

analog input record
TSH:TGHT:RDCUR

A

(0, 600) VAL=150.33

analog input record
TSH:TGHT:RDVOL

v

(0, 8) VAL-1.20635

analog input record

T

log10 (1e-07, 16-05) VAL=3.54365¢-07

calculation record
TMS:FCO:SCALECUR

[y
log10 (1e-10, 16-06) VAL=6.103526-07
subroutine record

« 3 4/ 3P o X ¢][ 0] #[= 4jscroLine





image11.png
I rgaApp - [TS-2017-12-05-08-10 (connected to:COM4)]
_Je]x

U5 Fle £t View Mode Scan Guph Heod Utitis Window Help

DS QohbhEhcBE oBlBlue B «@M-»[2<6:malakirw

Time:00:00:00
5.62e-008 Nitrogen
3.37¢-006 Water
2.67e-008 Oxygen
3.52¢-008 mass44
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 3.60e-008 mass55
1.73e-008 Helium
2.89¢-008 mass71
2.68e-008 Neon

3.91e-008 mass57

00:40:00 01:20:00 02:00:00 02:40:00 03:20:00 04:00:00

Time (hh:mm:ss)

For Help, press F1




image12.png
vacuum_current.stp

150 100

(Minutes)

(e ———————

Dec 05, 2017

x

TSGIGIRDVAC

T
log10 (1e-07, 16-05) VAL=1.56044e-06
subroutine record
v
(0, 60000) VAL=0
analog input record

TSGBIAS:RDCUR

uA

(0, 1000) VAL=0

analog input record
TSH:TBHT:RDCUR

A

(0, 300) VAL=78.1441

analog input record
TSH:TBHT:RDVOL

v

(0, 4) VAL=0.568967

analog input record
TSH:TGHT:RDCUR

A

(0, 600) VAL=200.44

analog input record
TSH:TGHT:RDVOL

v

(0, 8) VAL=1.75824

analog input record

T

log10 (1e-07, 16-05) VAL=3.50402¢-07

calculation record
TMS:FCO:SCALECUR

[y
log10 (1e-10, 16-06) VAL=5.79634e-07
subroutine record

« 3 4 IO X $] 0 #[Z= dJscroiinG





image13.png
FEBIAD Target Heat Sequence Setup

B00
1.000

400,000
1.000

150,000
30006

6.0005-06

- the time interval between increments. (in seconds)

- the amount to be added to the target heater
after each fime inferval

- the value that the target heater is required to reach.

- the amount to be added to the tube heater
after each fime inferval

- the value that the tube heater is required to reach.

- the target and tube heaters are only incremented ifthe
vacuum is akay, i2, less than this value

- ifthe vacuum exceeds this value, the last increment
of the target and tube heaters s backed off.





image14.png
x

vacuum_current.stp TSGIGTRDYAC

T
log10 (1e-07, 16-05) VAL=3.03297¢-06
subroutine record
v
(0, 60000) VAL=0
analog input record

TSGBIAS:RDCUR

uA

(0, 1000) vaL-0

analog input record
TSH:TBHT:RDCUR

A

(0, 300) VAL=156.268

analog input record
TSH:TBHT:RDVOL

v

(0, 4) VAL=1.56532

analog input record
TSH:TGHT:RDCUR

A

(0, 600) VAL=400.679

analog input record
TSH:TGHT:RDVOL

v
(0, 8) VAL=4.49328
analog input record

T

log10 (1e-07, 16-05) VAL=3.624250-07

calculation record
TMS:FCO:SCALECUR

[y
log10 (1e-10, 16-06) VAL=6.103526-07
subroutine record

3 2
Dec 05, 2017
(Hours)

« 3 4 IOl X $[ 0 #[Z= dJscroiinG





image15.png
I

U5 Fle £t View Mode Scan Guph Heod Utitis Window Help

D@8 & 0L LW =kEE

01:20:00

For Help, press F1

rgaApp - [TS-2017-12-05-08-10 (connected to:COM4)]

E<8

P &

@k %N

02:40:00

Time

0:00

(hh:mm:ss)

05:20:00

Time:03:30:15
4.16e-008 Nitrogen
3.35e-006 Water
2.46e-008 Oxygen
2.90e-008 mass44
2.18e-008 mass55
2.16e-008 Helium
2.11e-008 mass71
2.65e-008 Neon

2.17e-008 mass57

06:40:00

08:00:00





image16.png
‘ ISAC TEST STAND SURFACE SOURCE (TSG)

§ w7
o e e S|
[ — ) ——

— 0V 0uA

1.565 V Set Limit Volts 10000 V.

[ rshon |
[T 1S53 A Setlmtams 5000 A

Set Limt Volts 10000 V.
Set Limit Amps 600.0 A

2 rsccaia AR B3]
0022 T

o
301e-06 T
[T eis o “PIS off" “TPSITSG Anti-spartc] IEETRN

e
Sources Save/Restore





image17.png
FEBIAD Target Heat Sequence Setup

B00
1.000

580.000
1.000

200000
30006

6.0005-06

- the time interval between increments. (in seconds)

- the amount to be added to the target heater
after each fime inferval

- the value that the target heater is required to reach.

- the amount to be added to the tube heater
after each fime inferval

- the value that the tube heater is required to reach.

- the target and tube heaters are only incremented ifthe
vacuum is akay, i2, less than this value

- ifthe vacuum exceeds this value, the last increment
of the target and tube heaters s backed off.





image18.png
) rgaApp - [TS-2017-12-05-08-10 (connected to:COM4)] = &
) File Edt View Mode Scan Graph Head Utiities Window Help _J=lx

DE ESe @2k h=k@l 0| | @ E< 8 P alalk R D>

Time:05:28:35

Torr -2.5E-7 — 4.05¢-008 Nitrogen
— 4.90e-006 Water

— 2.56e-008 Oxygen

— 2.65e-008 mass44

— 2.13e-008 mass55

il — 2.11e-008 Helium

— 2.06e-008 mass71

1.0x10°

2.14¢-008 mass57

For Help, press F1




image19.png
vacuum_current.stp

e

x

TSGIGIRDVAC

T
log10 (1e-07, 16-05) VAL=2.65934e-06
subroutine record
v
(0, 60000) VAL=0
analog input record

TSGBIAS:RDCUR

uA

(0, 1000) VAL=0

analog input record
TSH:TBHT:RDCUR

A

(0, 300) VAL=157.143

analog input record
TSH:TBHT:RDVOL

v

(0, 4) VAL=1.59463

analog input record
TSH:TGHT:RDCUR

A

(0, 600) vAL=401.905

analog input record

3 2
Dec 06, 2017
(Hours)

TSH:TGHT:RDVOL

v
(0, 8) VAL=4.57143
analog input record

T

log10 (1e-07, 16-05) VAL=3.33111e-07

calculation record
TMS:FCO:SCALECUR

[y

log10 (1e-10, 16-06) VAL=5.49316e-07

subroutine record

« 3 4 IOl X $[ 0 #[Z= dJscroiinG





image20.png
2 rsccora

0021 T

[rscic |

301e-06 T
[ o

‘ ISAC TEST STAND SURFACE SOURCE (TSG)

[Crsnee |

e R —

oo S

0uA

845 V. 1248V e
936V (R == m—— o0

oV

ST

Set Limt Volts 10000 V.
Set Limit Amps 5000 A

(o

Set Limt Volts 10000 V.
Set Limit Amps 600.0 A

*PIS on’

"PIS off"

“TPsITSG Ante-spark] ISR

Sources Save/Restore





image21.png
vacuum_current.stp

20

(Minutes)

x

TSGIGIRDVAC

T
log10 (1e-07, 16-05) VAL=3.03297¢-06
subroutine record
v
(0, 60000) VAL=0
analog input record

TSGBIAS:RDCUR

uA

(0, 1000) VAL=0

analog input record
TSH:TBHT:RDCUR

Dec 06, 2017

A

(0, 300) VAL=207.326

analog input record
TSH:TBHT:RDVOL

v

(0, 4) VAL=2.30525

analog input record
TSH:TGHT:RDCUR

A

(0, 600) VAL=450.11

analog input record
TSH:TGHT:RDVOL

v

(0, 8) VAL=5.30647

analog input record

T

log10 (1e-07, 16-05) VAL=3.34969-07

calculation record
TMS:FCO:SCALECUR

[y
log10 (1e-10, 16-06) VAL=5.79634e-07
subroutine record

« 3 4/ 3P o X ¢][ 0] #[= 4jscroLine





image22.png
vacuum_current.stp

x

TSGIGIRDVAC

T
log10 (1e-07, 16-05) VAL=3.34066¢-06
subroutine record
v
(0, 60000) VAL=0
analog input record

TSGBIAS:RDCUR

uA

(0, 1000) VAL=0

analog input record
TSH:TBHT:RDCUR

m.».»u-._n.n.n.._...._.___7~F""“."’_ﬁa'=

3 2

(Hours)

10:46:45
Dec 06, 2017

A

(0, 300) VAL=207.204

analog input record
TSH:TBHT:RDVOL

v

(0, 4) VAL=2.30769

analog input record
TSH:TGHT:RDCUR

A

(0, 600) VAL=450.11

analog input record
TSH:TGHT:RDVOL

v

(0, 8) VAL=5.31868

analog input record

T

log10 (1e-07, 16-05) VAL=3.40600e-07

calculation record
TMS:FCO:SCALECUR

[y
log10 (1e-10, 16-06) VAL=5.79634e-07
subroutine record

« 3 4 IOl X $[ 0 #[Z= dJscroiinG





image23.png
) rgaApp - [TS-2017-12-05-08-10 (connected to:COM4)] = &
) File Edt View Mode Scan Graph Head Utiities Window Help _J=lx

D@8 & 0L LW =kEE B | ur 5] = ® P& a1k 2N PRI

Time:05:28:35

Torr — 4.05e-008 Nitrogen
- 4.90e-006 Water

— 2.56e-008 Oxygen

— 2.65e-008 mass44

— 2.13e-008 mass55

] — 2.11e-008 Helium

— 2.06e-008 mass71

1.0x10°

2.14¢-008 mass57

For Help, press F1




image24.png
vacuum_current.stp

P e e

x

TSGIGIRDVAC

T
log10 (1e-07, 16-05) VAL=3.20679e-06
subroutine record
v
(0, 60000) VAL=0
analog input record

TSGBIAS:RDCUR

uA

(0, 1000) VAL=0

analog input record
TSH:TBHT:RDCUR

3 2

(Hours)

Dec 06, 2017

A

(0, 300) VAL=207.204

analog input record
TSH:TBHT:RDVOL

v

(0, 4) VAL=2.31258

analog input record
TSH:TGHT:RDCUR

A

(0, 600) VAL=450.11

analog input record
TSH:TGHT:RDVOL

v

(0, 8) VAL=5.33578

analog input record

T

log10 (1e-07, 16-05) VAL=3.46483e-07

calculation record
TMS:FCO:SCALECUR

[y
log10 (1e-10, 16-06) VAL=6.40069e-07
subroutine record

« 3 4 IOl X $[ 0 #[Z= dJscroiinG





image25.png
) rgaApp - [TS-2017-12-05-08-10 (connected to:COM4)] = &
) File Edt View Mode Scan Graph Head Utiities Window Help _J=lx

D@8 & 0L LW =kEE B | ur 5] = ® P& a1k 2N PRI

Time:05:28:35

Torr — 4.05e-008 Nitrogen
- 4.90e-006 Water

— 2.56e-008 Oxygen

— 2.65e-008 mass44

— 2.13e-008 mass55

— 2.11e-008 Helium

— 2.06e-008 mass71

1.0x10°

2.14¢-008 mass57

For Help, press F1




image26.png
vacuum_current.stp

P e e

3 2

(Hours)

07:51:44
Dec 07, 2017

x

TSGIGIRDVAC

T
log10 (1e-07, 16-05) VAL=2.32967e-06
subroutine record
v
(0, 60000) VAL=0
analog input record

TSGBIAS:RDCUR

uA

(0, 1000) VAL=0

analog input record
TSH:TBHT:RDCUR

A

(0, 300) VAL=207.204

analog input record
TSH:TBHT:RDVOL

v

(0, 4) VAL-2.32723

analog input record
TSH:TGHT:RDCUR

A

(0, 600) VAL=449.963

analog input record
TSH:TGHT:RDVOL

v

(0, 8) VAL=5.3895

analog input record

T

log10 (1e-07, 16-05) VAL=3.33111e-07

calculation record
TMS:FCO:SCALECUR

[y
log10 (1e-10, 16-06) VAL=5.79634e-07
subroutine record

« 3 4 IOl X $[ 0 #[Z= dJscroiinG





image27.png
) rgaApp - [TS-2017-12-05-08-10 (connected to:COM4)] = &
) File Edt View Mode Scan Graph Head Utiities Window Help _J=lx

DE ESe @2k h=k@l 0| | @ E< 8 P alalk R D>

Time:05:28:35

Torr -2.5E-7 — 4.05¢-008 Nitrogen
— 4.90e-006 Water

— 2.56e-008 Oxygen

— 2.65e-008 mass44

— 2.13e-008 mass55

\\f__“‘“\ — 2.11e-008 Helium
T — 2.06e-008 mass71

1.0x10°

2.14¢-008 mass57

For Help, press F1




image28.png
vacuum_current.stp

x

TSGIGIRDVAC

T
log10 (1e-07, 16-05) VAL=3.03297¢-06
subroutine record
TSG:BIAS:RDVOL
v
(0, 60000) VAL=0
analog input record
TSGBIAS:RDCUR
uA
(0, 1000) VAL=0
analog input record
TSH:TBHT:RDCUR

A

(0, 300) vAL-208.303

analog input record
TSH:TBHT:RDVOL

50 -a0

(Minutes)

Dec 07, 2017

v

(0, 4) VAL=2.40537

analog input record
TSH:TGHT:RDCUR

A

(0, 600) VAL=572.454

analog input record
TSH:TGHT:RDVOL

v

(0, 8) VAL-7.28938

analog input record

T

log10 (1e-07, 16-05) VAL=3.36777e-07

calculation record
TMS:FCO:SCALECUR

[y
log10 (1e-10, 16-06) VAL=6.103526-07
subroutine record

« 3 4/ 3P o X ¢][ 0] #[= 4jscroLine





image29.png
) rgaApp - [TS-2017-12-05-08-10 (connected to:COM4)] = &
) File Edt View Mode Scan Graph Head Utiities Window Help _J=lx

DE ESe @2k h=k@l 0| | @ E< 8 P alalk R D>

Time:05:28:35

Torr -2.6E-7 — 4.05¢-008 Nitrogen
— 4.90e-006 Water

— 2.56e-008 Oxygen

— 2.65e-008 mass44

— 2.13e-008 mass55

e | — 2.11e-008 Helium
—

— 2.06e-008 mass71

1.0x10°

2.14¢-008 mass57

For Help, press F1




image30.png
vacuum_current.stp

i

x

TSGIGIRDVAC

T
log10 (1e-07, 16-05) VAL=3.18681e-06
subroutine record
v
(0, 60000) VAL=0
analog input record

TSGBIAS:RDCUR

uA

(0, 1000) VAL=0

analog input record
TSH:TBHT:RDCUR

107
50 -a0

(08:25:23, 4.486150-07 (Minutes)

Dec 07, 2017

A

(0, 300) VAL=208.181

analog input record
TSH:TBHT:RDVOL

v

(0, 4) VAL=2.40537

analog input record
TSH:TGHT:RDCUR

A

(0, 600) VAL=572.454

analog input record
TSH:TGHT:RDVOL

v

(0, 8) VAL-7.28938

analog input record

T

log10 (1e-07, 16-05) VAL=3.33111e-07

calculation record
TMS:FCO:SCALECUR

[y
log10 (1e-10, 16-06) VAL=5.79634e-07
subroutine record

€ 3 4/ DO ][0 #||= dscroine





image31.png
vacuum_current.stp

x

TSGIGIRDVAC

T
log10 (1e-07, 16-05) VAL=3.2967e-06
subroutine record

TSG:BIAS:RDVOL

v

(0, 60000) VAL=0

analog input record
TSGBIAS:RDCUR

uA

(0, 1000) VAL=0

analog input record
TSH:TBHT:RDCUR

A
(0, 300) vAL-208.303
analog input record

3 2

(Hours)

Dec 07, 2017

TSH:TBHT:RDVOL

v

(0, 4) VAL=2.39605

analog input record
TSH:TGHT:RDCUR

A

(0, 600) VAL=572.454

analog input record
TSH:TGHT:RDVOL

v

(0, 8) VAL=7.29426

analog input record

T

log10 (1e-07, 16-05) VAL=3.36678e-07

calculation record
TMS:FCO:SCALECUR

[y
log10 (1e-10, 16-06) VAL=5.79634e-07
subroutine record

« 3 4 IOl X $[ 0 #[Z= dJscroiinG





image32.png
) rgaApp - [TS-2017-12-05-08-10 (connected to:COM4)] = &
) File Edt View Mode Scan Graph Head Utiities Window Help _J=lx

DE ESe @2k h=k@l 0| | @ E< 8 P alalk R D>

Time:05:28:35

Torr -2.5E-7 — 4.05¢-008 Nitrogen
— 4.90e-006 Water

— 2.56e-008 Oxygen

— 2.65e-008 mass44

— 2.13e-008 mass55

\ﬁ — 2.11e-008 Helium
— 2.06e-008 mass71

2.14¢-008 mass57

1.0x10°

For Help, press F1




image33.png
vacuum_current.stp

e

x

TSGIGIRDVAC

T
log10 (1e-07, 16-05) VAL=2.043956-06
subroutine record

TSG:BIAS:RDVOL

v

(0, 60000) VAL=0

analog input record
TSGBIAS:RDCUR

uA

(0, 1000) VAL=0

analog input record
TSH:TBHT:RDCUR

i T
T —— o P

-10 5

(Hours)

Dec 08, 2017

A

(0, 300) VAL=208.181

analog input record
TSH:TBHT:RDVOL

v

(0, 4) VAL=2.36628

analog input record
TSH:TGHT:RDCUR

A

(0, 600) VAL=572.454

analog input record
TSH:TGHT:RDVOL

v

(0, 8) VAL=7.30891

analog input record

T

log10 (1e-07, 16-05) VAL=3.13131e-07

calculation record
TMS:FCO:SCALECUR

[y
log10 (1e-10, 16-06) VAL=6.103526-07
subroutine record

« 3 4 IOl X $[ 0 #[Z= dJscroiinG





image34.png
) rgaApp - [TS-2017-12-05-08-10 (connected to:COM4)] = &
) File Edt View Mode Scan Graph Head Utiities Window Help _J=lx

D@8 & 0L LW =kEE B | ur @ e ® P & @1k 2N PO R R

Time:05:28:35
Torr - — 4.05e-008 Nitrogen
— 4.90e-006 Water
5 — 2.56e-008 Oxygen
1010 — 2.650-008 mass44
— 2.13e-008 mass55

\/\ — 2.11e-008 Helium
\\ — 2.06e-008 mass71

2.14¢-008 mass57

For Help, press F1




image35.png
vacuum_current.stp

e ]

x

TSGIGIRDVAC

T
log10 (1e-07, 16-05) VAL=9.96901e-07
subroutine record
v
(0, 60000) VAL=0
analog input record

TSGBIAS:RDCUR

uA

(0, 1000) VAL=0

analog input record
TSH:TBHT:RDCUR

-10 5

(Hours)

Dec 11,2017

A

(0, 300) VAL=208.303

analog input record
TSH:TBHT:RDVOL

v

(0, 4) VAL=2.39072

analog input record
TSH:TGHT:RDCUR

A

(0, 600) VAL=561.538

analog input record
TSH:TGHT:RDVOL

v

(0, 8) VAL=7.47741

analog input record

T

log10 (1e-07, 16-05) VAL=2.97679e-07

calculation record
TMS:FCO:SCALECUR

[y
log10 (1e-10, 16-06) VAL=6.103526-07
subroutine record

« 3 4 IOl X $[ 0 #[Z= dJscroiinG





image36.png
) rgaApp - [TS-2017-12-05-08-10 (connected to:COM4)] = &
) File Edt View Mode Scan Graph Head Utiities Window Help _J=lx

DEEE S O 2k b =k YA R i

B 3] 5 ® Py ek LN B R R
Time:18:12:15
Torr -2.5E-7 — 3.67¢-008 Nitrogen
— 4.32¢-006 Water

— 2.56e-008 Oxygen

— 2.51e-008 mass44

— 2.12¢-008 mass55

— 2.11e-008 Helium

— 2.08e-008 mass71

1.0x10°

2.10e-008 mass57

For Help, press F1




image37.png
Jusr1/isact/ed|/cxml/tgcool_setup.ed! - o IEN

FEBIAD Target Cooling Sequence Setup

1.[B5T " - the tine nterval bstween decrements.(n sconds)

2. [T505 - the amount o he subtracted fom th target heater
atr sach tme iterval

5[5 - the amount o he subtracted fom the tubs heater

after each fime inferval




image38.png
vacuum_current.stp

5

(Hours)

13:
Dec 11,2017

x

TSGIGIRDVAC

T
log10 (1e-07, 16-05) VAL=6.31860e-07
subroutine record
v
(0, 60000) VAL=0
analog input record

TSGBIAS:RDCUR

uA

(0, 1000) VAL=0

analog input record
TSH:TBHT:RDCUR

A

(0, 300) VAL=1.0989

analog input record
TSH:TBHT:RDVOL

v

(0, 4) vAL=0

analog input record
TSH:TGHT:RDCUR

A

(0, 600) VAL=4.3956

analog input record
TSH:TGHT:RDVOL

v

(0, 8) VAL-0.041514

analog input record

T

log10 (1e-07, 16-05) VAL=3.20254-07

calculation record
TMS:FCO:SCALECUR

[y
log10 (1e-10, 16-06) VAL=6.103526-07
subroutine record

« 3 4 IOl X $[ 0 #[Z= dJscroiinG





image39.png
i rgaApp - [TS-2017-12-05-08-10 (connected to:COM4)] -9

U5 Fle £t View Mode Scan Guph Heod Utitis Window Help RO
DE E&E&D 2 b b =k @ 1 [ IR T 6ol S

Time:18:12:15
Torr - — 3.67e-008 Nitrogen
— 4.32¢-006 Water
5 — 2.56e-008 Oxygen
1010 — 2.510-008 mass44

— 2.12¢-008 mass55
— 2.11e-008 Helium
— 2.08e-008 mass71

2.10e-008 mass57

For Help, press F1




image40.png
x

vacuum_current.stp [ TSGIGTRDYAC
log10 (1e-07, 16-05) VAL=0.0971429

b it subrouting record
TSG:BIASRDVOL
v
(0, 60000) VAL-0
analog input record
TSGBIASRDCUR

uA

(0, 1000) vaL-0

analog input record
TSH:TBHT:RDCUR

A

(0, 300) vaL-0

analog input record
TSH:TBHT:RDVOL

v

(0, 4) vaL=0

analog input record
TSH:TGHT:RDCUR

A

(0, 600) vAL=0

analog input record
TSH:TGHT:RDVOL

v

(0, 8) vaL=0

analog input record

T

log10 (1e-07, 16-05) VAL=3.2753%-07

calculation record
TMS:FCO:SCALECUR

[y
log10 (1e-10, 16-06) VAL=5.79634e-07
subroutine record

20 06:36:44.
Dec 12,2017
(Hours)

« 3 4 IOl X $[ 0 #[Z= dJscroiinG





image1.png
‘ ISAC TEST STAND VACUUM

[Tvsice |

38407 T

—

[hs:caan |

[ 15 co2o (e

0000 T

B oo

Auto-purp
Beamine

Source

Global Reset

[ Tscc |

482e-05 T

Do) g
i

[ Tscoor |

0000 T

s
[

M

e

e

e

e

e

rscvvm

[ Tscoata |
0101 T

"Start”

"Start”

EIEIEET

rsckm





image2.png
[ rgaApp - T5-2017-12-01-14-57
File Edt View Mode Scan Graph Head Utiities Window Help
DEES SO0 Llhu=EE O [CAKC N IS E ® 5 Py @ ek N B R R
2] TS-2017-12-01-14-57 (connected to:COM4) | = E=n )
Log every scan: 1/1000

For Help, press F1




image3.png
x

vacuum.stp TSGIGTRDYAC

T
log10 (1e-07, 16-05) VAL=1.562426-06
subroutine record

T

log10 (1e-07, 16-05) VAL=3.503726-07

calculation record
TSG:CGT:RDVAC

T

(0, 770) VAL=0

analog input record
TSG:CGIARDVAC

T

(0,0.1) VAL-0.0182927

analog input record
TMS:CGZ:RDVAC

T

(0, 770) VAL=0

analog input record
TMS:CGZARDVAC

T

(0,0.1) VAL-0.0131707

analog input record
TSG:CGIBRDVAC

T

(0,0.1) VAL-0.0160976

analog input record

pre-7-.

20 15 10
Dec 05, 2017
(Hours)

« 3 4 IOl X $[ 0 #[Z= dJscroiinG





image4.png
rgaApp - [TS-2017-12-05-08-10 (connected to:COM4)]

I

U5 Fle £t View Mode Scan Guph Heod Utitis Window Help

DS Q2 hbEkEL OBE|me B «@M »[z<6

ER R TN
Log every scan: 1/1000

For Help, press F1




image5.png
‘ ISAC TEST STAND VACUUM

[Tvsice |

35807 T

—

[hs:caan |

[ 15 co2o (e

0000 T

B oo

Auto-purp
Beamine

Source

Global Reset

[ Tscc |

1.58e-06 T
Cle g Moot

Y
PR e

M ]

e

e

e

e

e

rscvvm

[ Tscoata |
nmaT

"Start”

"Start”

EIEHET

rsckm





